Number bonds ITO |O

TWO or more numbers H’IOIT ma|<e d given I,'OITOL

eq 6+4=1054+5=10

2+3+5=10
J

Your children should know this

is a number bond to 5.
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All nhumbers are made from the
digits
01234567381
Where you Place he digit gives it a

VCIiUG



Number formahon

012345678€



0123456731

o
| |

I} is very important that we do not Say that this

IS O One cmcl 0 One.



é N[ N[ AW 4 N[ )
\. J \\ J \\ J \\ J \\ J

USG ITWO O Hw numbers ITO ma|<e d number bigger chm 50

4 N\ )

. J  \. J

IS H’liS H’le onlg number HOU COU[C[ make?
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Inequahhes
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Tens frame




When using a lens frame, you need fo fi“ this top row firsf €.g. [ would like this:

Children will then be able to see thal it is 5 and 2 more €.9. 5+7




With numbers ko 20. You will need two lens frames.

This ShOWS |5 | lOIT OJ.' |O o,nci 5 ones.
0 +5
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addilion and sublraction vocabularﬁ

decrease , -erwords.
- = et ans el such as fewer,
! shorter.

farther...
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Please no}e Hw,t a sum is an o,dclihon equahon / number sentence.
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O,ddl lon cmd SUIDITCLCIWOH

b+ 3 =
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Oddt lon o,nd SUlI)ITI"OCITLOI’I

b+ 3 =
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Oddl lon o,nd SUlI) FOCITLOH

b+ 3=
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Commu alive LCLW

3+0=5+3



Commulalive law

3 + 5 = 5 ¢4
HEE ==. ==I
>+ 3=




Commulalive law

3 + 5 = 5 ¢4
HEE ==. ==I
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Commulalive law

3 + 5 =5 + 3
HEE ==. =I HE N
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O,ddl lon cmci SUIDITCLCIWOH

6+ /=
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Oddt lon o,nd subtro,chon

6+7_
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6+7_
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